% exp7_2.m-—- T R-K ¥

function try_myode2

% NG P187 SKIRTRA(=)(3) i LA FEHAME AT X bt

a=0;b=1;,n=10;
Y0 =1[1,1,-1];

[x,Y] = myode2(@F,a,b,n,YO0);

% IE 55 A R EORS T A, O 55 B B, L TR T
xx = linspace(0,1,20); yy = xx.A3 + 1;

plot(x,Y(:,2),"+" xx,yy)

legend (‘EUEL A, FE TR

% ----mmmmmmmmmem B Runge-Kutta 7£  --------m-eeeeeee-

function [x,Y] = myode2(F,a,b,n,Y0)

% [x,Y] = myode2(F,a,b,n,Y0) -- &5t 1] Euler v, . P164(7-15) X
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% a,b -~ F53 X B A Uiy £

% n - [X[A1%5 540

% YO --- WMH, W2 ] 7] B Bl

% M x---[a,b]%E 1 (B E)

% Y - 5k FIAEE kAR A BUE
h = (b-a)/n;

x = linspace(a,b,n+1)’;
m = length(Y0);
Y = zeros(n+1,m);

Y(1,:) =YO';

y=Y0;

for j=1:n
t=x(j);
k1 =feval(F, t, y )
k2 = feval(F, t+h, y+h*k1);
y =y + h*(kl+k2)/2;
Y(j+1,:) =y5

end

%

function Z = F(x,Y)

Z=[ Y(2)-Y(3)+x
3*xN2




Y(2)+exp(-x)];

%
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